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Note: This question paper contains two parts A and B.
Part A is compulsory which carries 25 marks. Answer all questions in Part A. Part B

consists of 5 Units. Answer any one full question from each unit. Each question carries
10 marks and may have a, b as sub questlons

....... 7 L s : R % e i A M i L Mt (25 Marks)
l.a) Distinguish between Magnetic declination and Dip. [2]
b)  What is contour gradient? [2]
c) What is the advantage of fast needle method of traversing? [2]
d)  What are the different systems of tachometer survey? [2]
_e)  What is tilt distortion? __ oy e i QONEL S IR  Hrg (2],
- Why is if 1mp0rtanr. to work from"‘-the vxgh_ole to part and never from part to whoie"z 1n" _
__.-"Surveymg‘? gl F o Eo R N [3] N A
g) Howdoyou compute areas along 1rregu]ar boundanes‘? [3]
h)  Write the principle of theodolite. [3]
i)  What is meant by 5% curve? What will be the corresponding radius of the curve? [3]
j)  Write short notes on photo maps and mosaics. [3]

(50 Mm ks)

b) How would you determme the mcluded angles from the bearings? Explain the method

with the help of sketches. [5+3]
OR
3. The fo]lowmg bearmgs were obtamed in runmng a closed traverse:

Line — | Fo I;e..Bg:armg Ba-'ck:-.B'garmg < A by

BC 115 20 296° 35

CD 165° 35 345° 35

DE 224% 50 44° 05’

EA 304° 50' 125° 05

'AL what stattons do you suspect th.c: local attractlon"? Detex mine the do .__ect macnetw A
‘bearings: If the declinatiori was 5° 10, wiiat are {he tiue- bearmcs‘? %o Mt} [10] % "t




4, The following staff readings were observed successively with level, the instrument
having been moved forward after the second, fourth and eight readings,
0.875, 1.235,2.310, 1.385, 2.930, 3.125, 4.125, 0.120, 1.875, 2.030, 3.765m.

The ﬁrst readmg was laken with 1he staff he}d upon a B M of elevatlon 132.135m. Enter
1eeks [{O]

b) A series of offsets were taken from a chain Ime toa curved boundary line at intervals of
10m in the following order 0, 3.65, 4.80, 4.75, 5.65, 4.60, 5.95, 6.85 m. Compute the area
between the chain line, the curved boundary and the end offsets by Simpson’s rule.

[4+6]

i 8 Explainhow you would measure with a- Theodohte
----- _;zz) The horizontal: angfe by repetmon.,__‘_ ,
‘b) ThéVértical angle. ™"

OR
7.a)  Explain the temporary adjustments of a Transit.
b)  Write about traverse adjustments. [5+5]
B A tacheometer was setup ata stat;on A and the followmg readmgs were obtamed ona, ..
Inst statlon Staffstatlon Vertlcal angle Staffleadmg
A BM S'a0 1.150, 1.800, 2.450
A B +8°12 0.750, 1.500, 2.250
(1o .
. b) , ane short notes on errors in EDM [:5+5]-
10.a) How do you determine the scale of an aerial photograph?
b) What are the methods of measuring coordinates of photo images? {5+5]
OR




